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Law of Cosines

Law of Cosines: USE LAW OF COSINES WHEN THE PROBLEM
a®=b?+c?- 2bcCosA INCLUDES..

3 sides and an angle
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A is the included angle

Example #1: In AABC, b = 12, ¢ = 20, and m<A =A5°. Find side a to the nearest integer.
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1) InA4BC,a=3,b=5andc=7. What is msC? %
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2) In ADEF, if d= AJ3, ¢ =4, and m£F = 30, What is the length of £.?
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Example #2: Find the largest angle, to the nearest tenth of a degree, of a triangle whose sides are 9,12,
and 18.
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Example #4: . Al is standing 50 yards from a maple tree and 30 yards from an oak tree in the park. His
position is shown in the accompanying diagram. If he is looking at the maple tree, he needs to turn his head
120° to look at the oak tree. How many yards apart are the two trees?

Example #3:In a parallelogram, the adjacent sides measure 40cm and 22cm. If the larger angle of the
parallelogram measures 116°, find the diagonal, to the nearest integer
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